

Sigma Journal of Engineering and Natural Sciences Web page info: https://sigma.yildiz.edu.tr DOI: 10.14744/sigma.2024.00044



# **Research Article**

# On a boundary value problem with symmetric double well potential and spectral parameter in the boundary condition

Elif BAŞKAYA<sup>1,\*</sup>

<sup>1</sup>Department of Mathematics, Karadeniz Technical University, Trabzon, 61080, Türkiye

#### **ARTICLE INFO**

*Article history* Received: 10 March 2022 Revised: 28 May 2022 Accepted: 24 July 2022

#### Keywords:

The Boundary Value Problem; Symmetric Double Well Potential; Eigenvalue Parameter İn The Boundary Condition; Asymptotic Expansion

# ABSTRACT

The asymptotic expansion of the eigenvalue of Sturm-Liouville problem is presented. The problem has a symmetric double well potential that is continuous, symmetrical to both the midpoint and quarter point of the related interval and non-increasing on the quarter interval.

**Cite this article as:** Başkaya E. On a boundary value problem with symmetric double well potentialandspectralparameterintheboundarycondition.SigmaJEngNatSci2024;42(2):572–577.

#### INTRODUCTION

...

We are interested in the following equation

$$y^{-}(t) + [\lambda - q(t)]y(t) = 0, t \in [0, a].$$
(1)

In (1), we accept that t is independent variable, y is dependent variable of t, real spectral parameter  $\lambda$  is independent of t, real potential function q is dependent of t and continuous. We consider (1) with the pair of following equations

$$\alpha_1 y(0) - \alpha_2 y'(0) = \lambda [\alpha'_1 y(0) - \alpha'_2 y'(0)]$$
(2)

and

• •

\*Corresponding author.

\*E-mail address: elifbekar@ktu.edu.tr

*This paper was recommended for publication in revised form by Regional Editor Ahmet Selim Dalkilic* 

$$y(a)\cos\beta + y'(a)\sin\beta = 0.$$
 (3)

(2)-(3) are named as boundary conditions; (2) is composed of real  $\alpha_1$ ,  $\alpha_2$ ,  $\alpha'_1$ ,  $\alpha'_2$  constants and  $\beta \in [0,\pi)$  in (3). The problem (1)-(3) is a boundary value problem. We noticed that spectral parameter  $\lambda$  (is also called an eigenvalue) seems not only in (1) but also in (2) and it is desirable to determine all values of  $\lambda$ . Problems of this type arise routinely in solving partial differential equations, but also come up in other applications (see [14], [15] and [18]). Walter [26] proves very important theorem for (1)-(3) that if we have

$$\delta_1 = \alpha'_1 \alpha_2 - \alpha_1 \alpha'_2 > 0, \tag{4}$$

Published by Yıldız Technical University Press, İstanbul, Turkey

Copyright 2021, Yıldız Technical University. This is an open access article under the CC BY-NC license (http://creativecommons.org/licenses/by-nc/4.0/).

(1)-(3) is a self-adjoint problem. The problem (1)-(3) described here is one of an eigenvalue problem (or called Sturm-Liouville problem) and this type problem is studied a lot of researchers (see [3,5,8-12,16,20,22]).

The expectation of this study is to achieve asymptotic estimates for eigenvalues of (1)-(3) with symmetric double well potential q. The symmetric single and double well potentials are very important and famous functions especially in quantum mechanics (see [1,2,6,7,13,19,21,23,24]). We note that, on the related interval, a symmetric double well potential means that the function is symmetric not only on the whole related interval but also on the half of the related interval. So we can write for our continuous q in (1) that  $q(t) = q(a - t) = q(\frac{a}{2} - t)$  is satisfied, mathematically. We also take without loss of generality that q(t) has a mean value zero, that is  $\int_0^a q(t)dt = 0$  and (4) is provided by (2).

#### MATERIALS AND METHODS

We know that if a function is monotone on the related interval, the function is also differentiable almost everywhere on that interval [17], so first of all, it should be emphasized that the derivative of the potential of our problem exists.

Our method is based on [9]. If we reconstruct its main theorems for N = 2 in pursuit of our goal, we readily get the following results:

**Theorem 1.** The eigenvalues of (1)-(3) satisfy as  $\lambda \rightarrow \infty$ (i) for  $\alpha_2' \neq 0, \beta \neq 0$ 

$$\begin{aligned} (n+1)\pi &= \int_0^a [r_2(t,\lambda) + \rho_2(t,\lambda)] \, dt \\ &- tan^{-1} \left\{ \frac{\alpha_1 - \alpha_2 [r_1(0,\lambda) + \rho_1(0,\lambda)] - \lambda [\alpha_1' - \alpha_2' (r_1(0,\lambda) + \rho_1(0,\lambda))]}{(\alpha_2 - \lambda \alpha_2') [r_2(0,\lambda) + \rho_2(0,\lambda)]} \right\} \\ &- tan^{-1} \left\{ \frac{cos\beta + [r_1(a,\lambda) + \rho_1(a,\lambda)]sin\beta}{sin\beta [r_2(a,\lambda) + \rho_2(a,\lambda)]} \right\} + O(\lambda^{-3/2}), \end{aligned}$$

(ii) for 
$$\alpha_2' \neq 0, \beta = 0$$

$$\begin{aligned} \frac{(2n+3)\pi}{2} &= \int_0^a [r_2(t,\lambda) + \rho_2(t,\lambda)] \, dt \\ &- tan^{-1} \left\{ \frac{\alpha_1 - \alpha_2 [r_1(0,\lambda) + \rho_1(0,\lambda)] - \lambda [\alpha_1' - \alpha_2' (r_1(0,\lambda) + \rho_1(0,\lambda))]}{(\alpha_2 - \lambda \alpha_2') [r_2(0,\lambda) + \rho_2(0,\lambda)]} \right\} \\ &+ O(\lambda^{-3/2}) \end{aligned}$$

where  $r_1(t,\lambda) + \rho_1(t,\lambda)$  and  $r_2(t,\lambda) + \rho_2(t,\lambda)$  are defined by

$$r_{1}(t,\lambda) + \rho_{1}(t,\lambda) = \frac{1}{2}\lambda^{-1/2} \int_{0}^{t} q'(x) \sin 2\lambda^{1/2}(t-x)dx - \frac{1}{2}\lambda^{-1} \int_{0}^{t} q'(x) \left[ \int_{x}^{t} q(s)ds \right] \cos 2\lambda^{\frac{1}{2}}(t-x)dx + \frac{1}{4}\lambda^{-1} \int_{0}^{t} q^{2}(x) \cos 2\lambda^{1/2}(t-x)dx + O(\lambda^{-3/2})$$
(5)

$$r_{2}(t,\lambda) + \rho_{2}(t,\lambda) = \lambda^{1/2} - \frac{1}{2}\lambda^{-1/2}q(t) + \frac{1}{2}\lambda^{-1/2} \int_{0}^{t} q'(x)cos2\lambda^{1/2}(t-x)dx + \frac{1}{2}\lambda^{-1} \int_{0}^{t} q'(x) \left[ \int_{x}^{t} q(s)ds \right] sin2\lambda^{1/2}(t-x)dx - \frac{1}{4}\lambda^{-1} \int_{0}^{t} q^{2}(x)sin2\lambda^{1/2}(t-x)dx + O(\lambda^{-3/2}).$$
(6)

**Theorem 2.** The eigenvalues of (1)-(3) satisfy as  $\lambda \rightarrow \infty$ (i) for  $\alpha_2' = 0, \beta \neq 0$ 

$$\begin{aligned} (n+1)\pi &= \int_{0}^{a} \left[ r_{2}(t,\lambda) + \rho_{2}(t,\lambda) \right] dt \\ &- cot^{-1} \left\{ \frac{\alpha_{2} \left[ r_{2}(0,\lambda) + \rho_{2}(0,\lambda) \right]}{\alpha_{1} - \alpha_{2} \left[ r_{1}(0,\lambda) + \rho_{1}(0,\lambda) \right] - \lambda \alpha_{1}'} \right\} \\ &- tan^{-1} \left\{ \frac{cos\beta + \left[ r_{1}(a,\lambda) + \rho_{1}(a,\lambda) \right] sin\beta}{sin\beta \left[ r_{2}(a,\lambda) + \rho_{2}(a,\lambda) \right]} \right\} + O\left(\lambda^{-3/2}\right) \end{aligned}$$

$$\begin{aligned} \frac{(2n+3)\pi}{2} &= \int_0^a [r_2(t,\lambda) + \rho_2(t,\lambda)] dt \\ &- \cot^{-1} \left\{ \frac{\alpha_2 [r_2(0,\lambda) + \rho_2(0,\lambda)]}{\alpha_1 - \alpha_2 [r_1(0,\lambda) + \rho_1(0,\lambda)] - \lambda \alpha_1'} \right. \end{aligned}$$

# **RESULTS AND DISCUSSION**

(ii) for  $\alpha_2' = 0, \beta = 0$ 

Our aim is to find the following asymptotic approximations for eigenvalues  $\lambda_n$  of (1)-(3) with symmetric double well potential *q*:

**Theorem 3.** Let q(t) be double symmetric in (1). Then, the eigenvalues  $\lambda_n$  of (1)-(3) satisfy as  $n \rightarrow \infty$ (i) for  $\alpha_2' \neq 0, \beta \neq 0$ 

$$\begin{split} \lambda_n^{1/2} &= \frac{(n+1)\pi}{a} + \frac{1}{(n+1)\pi} \left[ \frac{\alpha_1'}{\alpha_2'} + \cot\beta \right] - \frac{a}{2(n+1)^2 \pi^2} [1 + \cos(n+1)\pi] \\ &\int_0^{a/4} q'(x) \sin\left( \frac{2(n+1)\pi}{a} x \right) dx + O(n^{-3}), \end{split}$$

(ii) for 
$$\alpha_2' \neq 0, \beta = 0$$

$$\lambda_n^{1/2} = \frac{(2n+3)\pi}{2a} + \frac{2}{(2n+3)\pi} \frac{\alpha_1'}{\alpha_2'} + O(n^{-3}),$$

(iii) for 
$$\alpha_2' = 0, \beta \neq 0$$

$$\lambda_n^{1/2} = \frac{(2n+3)\pi}{2a} + \frac{2}{(2n+3)\pi} \left[\frac{\alpha_2}{\alpha_1'} + \cot\beta\right] + O(n^{-3}),$$

(iv) for 
$$\alpha_2' = 0, \beta = 0$$

$$\begin{split} \lambda_n^{1/2} &= \frac{(n+2)\pi}{a} + \frac{1}{(n+2)\pi} \frac{\alpha_2}{\alpha_1'} \\ &+ \frac{a}{2(n+2)^2 \pi^2} [1 + \cos n\pi] \int_0^{a/4} q'(x) \sin\left(\frac{2(n+2)\pi}{a}x\right) dx + O(n^{-3}). \end{split}$$

**Proof.** (i) We compute the terms in Theorem 1-i). Firstly, from (5) and (6), we write that

and

$$\begin{split} r_1(0,\lambda) + \rho_1(0,\lambda) &= O(\lambda^{-3/2}), \\ r_2(0,\lambda) + \rho_2(0,\lambda) &= \lambda^{1/2} - \frac{1}{2}\lambda^{-1/2}q(0) + O(\lambda^{-3/2}), \\ r_1(a,\lambda) + \rho_1(a,\lambda) &= \frac{1}{2}\lambda^{-1/2}\int_0^a q'(x)sin2\lambda^{1/2}(a-x)dx \\ &\quad -\frac{1}{2}\lambda^{-1}\int_0^a q'(x)\left[\int_x^a q(s)ds\right]cos2\lambda^{1/2}(a-x)dx \\ &\quad +\frac{1}{4}\lambda^{-1}\int_0^a q^2(x)cos2\lambda^{1/2}(a-x)dx + O(\lambda^{-3/2}) \end{split}$$

and

$$\begin{split} r_{2}(a,\lambda) + \rho_{2}(a,\lambda) &= \lambda^{1/2} - \frac{1}{2} \lambda^{-1/2} q(a) + \frac{1}{2} \lambda^{-1/2} \int_{0}^{a} q'(x) cos 2\lambda^{1/2} (a-x) dx \\ &+ \frac{1}{2} \lambda^{-1} \int_{0}^{a} q'(x) \left[ \int_{x}^{a} q(s) ds \right] sin 2\lambda^{1/2} (a-x) dx \\ &- \frac{1}{4} \lambda^{-1} \int_{0}^{a} q^{2}(x) sin 2\lambda^{1/2} (a-x) dx + O(\lambda^{-3/2}). \end{split}$$

Therefore, if we define

$$\xi := \frac{\alpha_1 - \lambda \alpha'_1 + O(\lambda^{-1/2})}{-\lambda^{3/2} \alpha'_2 + \lambda^{1/2} \alpha_2 + \frac{1}{2} \lambda^{1/2} \alpha'_2 q(0) - \frac{1}{2} \lambda^{-1/2} \alpha_2 q(0) + O(\lambda^{-1/2})}, \quad (7)$$

and

$$\varpi := \frac{\cos\beta + \sin\beta \left[\frac{1}{2}\lambda^{-1/2}S_1 - \frac{1}{2}\lambda^{-1}C_2 + \frac{1}{4}\lambda^{-1}C_3\right] + O(\lambda^{-3/2})}{\sin\beta \left[\lambda^{1/2} - \frac{1}{2}\lambda^{-1/2}q(a) + \frac{1}{2}\lambda^{-1/2}C_1 + \frac{1}{2}\lambda^{-1}S_2 - \frac{1}{4}\lambda^{-1}S_3\right] + O(\lambda^{-3/2})},$$
(8)

where

$$S_{1} := \int_{0}^{a} q'(x) \sin 2\lambda^{\frac{1}{2}}(a-x) dx$$

$$C_{1} := \int_{0}^{a} q'(x) \cos 2\lambda^{1/2}(a-x) dx,$$

$$S_{2} := \int_{0}^{a} q'(x) \left[ \int_{x}^{a} q(s) ds \right] \sin 2\lambda^{1/2}(a-x) dx,$$

$$C_{2} := \int_{0}^{a} q'(x) \left[ \int_{x}^{a} q(s) ds \right] \cos 2\lambda^{1/2}(a-x) dx,$$

$$S_{3} := \int_{0}^{a} q^{2}(x) \sin 2\lambda^{1/2}(a-x) dx,$$

$$C_{3} := \int_{0}^{a} q^{2}(x) \cos 2\lambda^{1/2}(a-x) dx,$$
(9)

we can rearrange Theorem 1-i) as follows:

$$(n+1)\pi = \int_0^a [r_2(t,\lambda) + \rho_2(t,\lambda)] dt - tan^{-1}(\xi) - tan^{-1}(\varpi) + O(\lambda^{-3/2}).$$
(10)

We will gain the asymptotic formula of the eigenvalue from (10). Also, we get  $\xi$  by using series expansion

$$\begin{split} \xi &= \frac{-\lambda \alpha_1' + \alpha_1 + O(\lambda^{-1/2})}{-\lambda^{3/2} \alpha_2' \left[ 1 - \frac{\alpha_2}{\alpha_2'} \lambda^{-1} - \frac{1}{2} \lambda^{-1} q(0) + O(\lambda^{-2}) \right]} \\ &= \left\{ \lambda^{-1/2} \frac{\alpha_1'}{\alpha_2'} - \lambda^{-3/2} \frac{\alpha_1}{\alpha_2'} + O(\lambda^{-2}) \right\} \left\{ 1 + \lambda^{-1} \frac{\alpha_2}{\alpha_2'} + \frac{1}{2} \lambda^{-1} q(0) + O(\lambda^{-2}) \right\} \\ &= \lambda^{-1/2} \frac{\alpha_1'}{\alpha_2'} + O(\lambda^{-3/2}). \end{split}$$

By using this  $\xi$  in inverse tangent expansion  $tan^{-1}(\xi) = \xi - \frac{\xi^3}{3} + \cdots$ , we obtain

$$tan^{-1}(\xi) = \lambda^{-1/2} \frac{\alpha_1'}{\alpha_2'} + O(\lambda^{-3/2}).$$
(11)

For  $\omega$ , we manage similar manner, thus we find that

$$\begin{split} \varpi &= \frac{\cot\beta + \frac{1}{2}\lambda^{-1/2}S_1 - \frac{1}{2}\lambda^{-1}C_2 + \frac{1}{4}\lambda^{-1}C_3 + O(\lambda^{-3/2})}{\lambda^{1/2}\left[1 - \frac{1}{2}\lambda^{-1}q(a) + \frac{1}{2}\lambda^{-1}C_1 + \frac{1}{2}\lambda^{-3/2}S_2 - \frac{1}{4}\lambda^{-3/2}S_3 + O(\lambda^{-2})\right]} \\ &= \left\{\lambda^{-1/2}\cot\beta + \frac{1}{2}\lambda^{-1}S_1 - \frac{1}{2}\lambda^{-3/2}C_2 + \frac{1}{4}\lambda^{-3/2}C_3 + O(\lambda^{-2})\right\} \\ &\times \left\{1 + \frac{1}{2}\lambda^{-1}q(a) - \frac{1}{2}\lambda^{-1}C_1 - \frac{1}{2}\lambda^{-3/2}S_2 + \frac{1}{4}\lambda^{-3/2}S_3 + O(\lambda^{-2})\right\} \\ &= \lambda^{-1/2}\cot\beta + \frac{1}{2}\lambda^{-1}S_1 + O(\lambda^{-3/2}). \end{split}$$

By putting this calculated  $\omega$  with  $S_1$  in (9) into inverse tangent expansion, we have that

$$tan^{-1}(\varpi) = \lambda^{-1/2} cot\beta + \frac{1}{2}\lambda^{-1} \int_0^a q'(x) sin2\lambda^{1/2}(a-x)dx + O(\lambda^{-3/2}).$$

The potential is symmetric double well in our problem, i.e. q(x) is symmetric, q'(x) exists and q'(x) = -q'(a - x). So we can write

$$\int_{a/2}^{a} q'(x) \sin 2\lambda^{1/2} (a-x) dx = -\int_{a/2}^{0} q'(a-u) \sin 2\lambda^{1/2} u du$$
$$= \int_{a/2}^{0} q'(u) \sin 2\lambda^{1/2} u du.$$

And then,

$$\begin{split} \int_{0}^{a} q'(x) \sin 2\lambda^{1/2}(a-x) dx &= \int_{0}^{a/2} q'(x) \sin 2\lambda^{1/2}(a-x) dx + \int_{a/2}^{a} q'(x) \sin 2\lambda^{1/2}(a-x) dx \\ &= \int_{0}^{a/2} q'(x) \sin 2\lambda^{1/2}(a-x) dx - \int_{0}^{a/2} q'(x) \sin 2\lambda^{1/2} x dx \\ &= \sin 2\lambda^{1/2} a \int_{0}^{a/2} q'(x) \cos 2\lambda^{1/2} x d \exists x \\ &- \cos 2\lambda^{1/2} a \int_{0}^{a/2} q'(x) \sin 2\lambda^{1/2} x dx \\ &- \int_{0}^{a/2} q'(x) \sin 2\lambda^{1/2} x dx \end{split}$$

that is

$$\int_{0}^{a} q'(x) \sin 2\lambda^{1/2} (a-x) dx = \sin 2\lambda^{1/2} a \int_{0}^{a/2} q'(x) \cos 2\lambda^{1/2} x dx$$

$$-[1 + \cos 2\lambda^{1/2} a] \int_{0}^{a/2} q'(x) \sin 2\lambda^{1/2} x dx.$$
(12)

Also, since q(x) is double symmetric and q'(x) exists, we can compose  $q'(x) = -q'\left(\frac{a}{2} - x\right)$ , then

$$\begin{split} \int_{a/4}^{a/2} q'(x) \cos 2\lambda^{1/2} x dx &= -\int_{a/4}^{a/2} q'\left(\frac{a}{2} - x\right) \cos 2\lambda^{1/2} x dx \\ &= \int_{a/4}^{0} q'(u) \cos 2\lambda^{1/2} \left(\frac{a}{2} - u\right) du \\ &= -\cos \lambda^{1/2} a \int_{0}^{a/4} q'(u) \cos 2\lambda^{1/2} u du \\ &- \sin \lambda^{1/2} a \int_{0}^{a/4} q'(u) \sin 2\lambda^{1/2} u du, \end{split}$$

hence, we gain

$$\int_{0}^{a/2} q'(x) \cos 2\lambda^{1/2} x dx = \int_{0}^{a/4} q'(x) \cos 2\lambda^{1/2} x dx + \int_{a/4}^{a/2} q'(x) \cos 2\lambda^{1/2} x dx$$
$$= \left[1 - \cos \lambda^{1/2} a\right] \int_{0}^{a/4} q'(x) \cos 2\lambda^{1/2} x dx \qquad (13)$$
$$-\sin \lambda^{1/2} a \int_{0}^{a/4} q'(x) \sin 2\lambda^{1/2} x dx.$$

Similarly,

$$\begin{split} \int_{a/4}^{a/2} q'(x) \sin 2\lambda^{1/2} x dx &= -\int_{a/4}^{a/2} q'\left(\frac{a}{2} - x\right) \sin 2\lambda^{1/2} x dx \\ &= \int_{a/4}^{0} q'(u) \sin 2\lambda^{1/2} \left(\frac{a}{2} - u\right) du \\ &= -\sin \lambda^{1/2} a \int_{0}^{a/4} q'(u) \cos 2\lambda^{1/2} u du \\ &+ \cos \lambda^{1/2} a \int_{0}^{a/4} q'(u) \sin 2\lambda^{1/2} u du, \end{split}$$

so

$$\int_{0}^{a/2} q'(x) \sin 2\lambda^{1/2} x dx = \int_{0}^{a/4} q'(x) \sin 2\lambda^{1/2} x dx + \int_{a/4}^{a/2} q'(x) \sin 2\lambda^{1/2} x dx$$
$$= \left[1 + \cos \lambda^{1/2} a\right] \int_{0}^{a/4} q'(x) \sin 2\lambda^{1/2} x dx \qquad (14)$$
$$- \sin \lambda^{1/2} a \int_{0}^{a/4} q'(x) \cos 2\lambda^{1/2} x dx.$$

By substituting (13) and (14) in (12), we obtain

$$\int_{0}^{a} q'(x) \sin 2\lambda^{1/2} (a-x) dx = \sin 2\lambda^{1/2} a \int_{0}^{a/4} q'(x) \cos 2\lambda^{1/2} x dx -2 \cos \lambda^{1/2} a [1 + \cos \lambda^{1/2} a] \int_{0}^{a/4} q'(x) \sin 2\lambda^{1/2} x dx.$$
(15)

If we use the last equality in  $tan^{-1}(\omega)$ , we can write

$$tan^{-1}(\varpi) = \lambda^{-1/2} cot\beta + \frac{1}{2} \lambda^{-1} sin2\lambda^{1/2} a \int_{0}^{a/4} q'(x) cos2\lambda^{1/2} x dx -\lambda^{-1} cos\lambda^{1/2} a [1 + cos\lambda^{1/2} a] \int_{0}^{a/4} q'(x) sin2\lambda^{1/2} x dx.$$
(16)

Now, we should calculate  $\int_0^a [r_2(t,\lambda) + \rho_2(t,\lambda)] dt$  to compute asymptotic eigenvalues of (10). From (6)

$$\int_{0}^{a} [r_{2}(t,\lambda) + \rho_{2}(t,\lambda)] dt = \lambda^{1/2} \int_{0}^{a} 1 dt - \frac{1}{2} \lambda^{-1/2} \int_{0}^{a} q(t) dt + \frac{1}{2} \lambda^{-1/2} I_{1} + \frac{1}{2} \lambda^{-1} I_{2} - \frac{1}{4} \lambda^{-1} I_{3} + O(\lambda^{-3/2})$$
(17)

where

$$I_{1} := \int_{0}^{a} \left\{ \int_{0}^{t} q'(x) \cos 2\lambda^{1/2} (t-x) dx \right\} dt,$$
$$I_{2} := \int_{0}^{a} \left\{ \int_{0}^{t} q'(x) \left[ \int_{x}^{t} q(s) ds \right] \sin 2\lambda^{1/2} (t-x) dx \right\} dt$$

and

$$I_{3} := \int_{0}^{a} \left\{ \int_{0}^{t} q^{2}(x) \sin 2\lambda^{1/2}(t-x) dx \right\} dt.$$

In the equation (17), since q(t) has a mean value zero, the term  $\frac{1}{2}\lambda^{-1/2}\int_0^a q(t)dt$  is zero. We need to calculate  $I_1$ ,  $I_2$ ,  $I_3$ . Let us adapt Leibniz Formula for these integrals, right away:

$$I_{1} = \frac{1}{2\lambda^{1/2}} \left\{ \int_{0}^{t} q'(x) \sin 2\lambda^{1/2} (t-x) dx \right\} \Big|_{t=0}^{a}$$

$$= \frac{1}{2} \lambda^{-1/2} \int_{0}^{a} q'(x) \sin 2\lambda^{1/2} (a-x) dx,$$
(18)

$$I_{2} = \left\{ -\frac{1}{2\lambda^{1/2}} \int_{0}^{t} q'(x) \left[ \int_{x}^{t} q(s) ds \right] \cos 2\lambda^{1/2} (t-x) dx \right\} \Big|_{t=0}^{a} \\ + \left\{ \frac{1}{2\lambda^{1/2}} \int_{0}^{t} q(t) q'(x) \cos 2\lambda^{1/2} (t-x) dx \right\} \Big|_{t=0}^{a}$$
(19)  
$$= -\frac{1}{2} \lambda^{-1/2} \int_{0}^{a} q'(x) \left[ \int_{x}^{a} q(s) ds \right] \cos 2\lambda^{1/2} (a-x) dx \\ + \frac{1}{2} \lambda^{-1/2} q(a) \int_{0}^{a} q'(x) \cos 2\lambda^{1/2} (a-x) dx$$

and since we know q(t) = q(a-t)

$$I_{3} = \left\{ -\frac{1}{2\lambda^{1/2}} \int_{0}^{t} q^{2}(x) \cos 2\lambda^{1/2}(t-x) dx \right\} \Big|_{t=0}^{a} + \left\{ \frac{1}{2\lambda^{1/2}} q^{2}(t) \right\} \Big|_{t=0}^{a}$$
(20)
$$= -\frac{1}{2} \lambda^{-1/2} \int_{0}^{a} q^{2}(x) \cos 2\lambda^{1/2}(a-x) dx.$$

Consequently, in the equation (17), the terms  $\frac{1}{2}\lambda^{-1}I_2$  and  $\frac{1}{4}\lambda^{-1}I_3$  get into error term  $O(\lambda^{-3/2})$  because of (19) and (20). So by using (15) and (18), we reorganize (17) as following:

$$\int_{0}^{a} [r_{2}(t,\lambda) + \rho_{2}(t,\lambda)] dt = \lambda^{1/2}a + \frac{1}{4}\lambda^{-1}sin2\lambda^{1/2}a \int_{0}^{a/4} q'(x)cos2\lambda^{1/2}xdx - \frac{1}{2}\lambda^{-1}cos\lambda^{1/2}a[1 + cos\lambda^{1/2}a] \int_{0}^{a/4} q'(x)sin2\lambda^{1/2}xdx + O(\lambda^{-3/2}).$$
(21)

Finally, substituting (11), (16) and (21) into (10) and using reversion, we demonstrate the theorem.

(ii) Similar to (i), we write Theorem 1-ii) as follows:

$$\frac{(2n+3)\pi}{2} = \int_0^a [r_2(t,\lambda) + \rho_2(t,\lambda)] dt - tan^{-1}(\xi) + O\left(\lambda^{-\frac{3}{2}}\right).$$

 $\lambda_n^{1/2} = \frac{(2n+3)}{2} + \frac{2}{(2n+3)} \frac{\alpha_1'}{\alpha_2'} + O(n^{-3}),$ 

Theorem 3-ii) eventually is proved by using substitution of (11), (21) and  $\xi$  is defined by (7) into the this equation, and then reversion.

(iii) We can reformulate Theorem 2-i) as following:

$$(n+1)\pi = \int_0^a [r_2(t,\lambda) + \rho_2(t,\lambda)] dt - \cot^{-1}(\varsigma) - \tan^{-1}(\varpi) + O(\lambda^{-3/2})$$
(22)

where  $\omega$  is defined by (8) and  $\varsigma$  is defined by

$$\varsigma := \frac{\lambda^{1/2} \alpha_2 - \frac{1}{2} \lambda^{-1/2} \alpha_2 q(0) + O(\lambda^{-3/2})}{\alpha_1 - \lambda \alpha_1' + O(\lambda^{-3/2})}.$$
 (23)

By using series expansion,  $\varsigma$  is found as

$$\begin{split} \varsigma &= \frac{\lambda^{1/2} \alpha_2 - \frac{1}{2} \lambda^{-1/2} \alpha_2 q(0) + O(\lambda^{-3/2})}{-\lambda \alpha_1' \left[ 1 - \lambda^{-1} \frac{\alpha_1}{\alpha_1'} + O(\lambda^{-5/2}) \right]} \\ &= \left\{ -\lambda^{-1/2} \frac{\alpha_2}{\alpha_1'} + \frac{1}{2} \lambda^{-3/2} \frac{\alpha_2}{\alpha_1'} q(0) + O(\lambda^{-5/2}) \right\} \\ &\times \left\{ 1 + \lambda^{-1} \frac{\alpha_1}{\alpha_1'} + \lambda^{-2} \frac{\alpha_1^2}{(\alpha_1')^2} + O(\lambda^{-5/2}) \right\} \\ &= -\lambda^{-1/2} \frac{\alpha_2}{\alpha_1'} + O(\lambda^{-3/2}). \end{split}$$

By using this  $\varsigma$  in inverse cotangent expansion  $\cot^{-1}(\varsigma) = \frac{\pi}{2} - \varsigma + \frac{\varsigma^3}{3} + \cdots$ , we write that

$$\cot^{-1}(\varsigma) = \frac{\pi}{2} + \lambda^{-1/2} \frac{\alpha_2}{\alpha_1'} + O(\lambda^{-3/2}).$$
(24)

Substituting (16), (21) and (24) into (22), we verify the theorem.

(iv) We reduce Theorem 2-ii) as following:

$$\frac{(2n+3)\pi}{2} = \int_0^a [r_2(t,\lambda) + \rho_2(t,\lambda)] dt - \cot^{-1}(\varsigma) + O\left(\lambda^{-\frac{3}{2}}\right).$$

Here  $\varsigma$  is given by (23). Theorem 3-iv) is a result of substituting of (21) and (24) into the last equation and using reversion.

(i) for  $\alpha_2' \neq 0, \beta \neq 0$ 

$$\lambda_n^{1/2} = \frac{n+1}{2} + \frac{1}{n+1} \left[ \frac{\alpha_1'}{\alpha_2'} + \cot\beta \right] + O(n^{-3}),$$

(iv) for  $\alpha_{2}' = 0, \beta = 0$ 

(iii) for  $\alpha_2' = 0, \beta \neq 0$ 

$$\lambda_n^{1/2} = \frac{n+2}{2} + \frac{1}{(n+2)} \frac{\alpha_2}{\alpha_1'} + O(n^{-3}).$$

 $\lambda_n^{1/2} = \frac{(2n+3)}{4} + \frac{2}{(2n+3)} \left[ \frac{\alpha_2}{\alpha_1'} + \cot\beta \right] + O(n^{-3}),$ 

#### AUTHORSHIP CONTRIBUTIONS

Authors equally contributed to this work.

#### DATA AVAILABILITY STATEMENT

The authors confirm that the data that supports the findings of this study are available within the article. Raw data that support the finding of this study are available from the corresponding author, upon reasonable request.

## **CONFLICT OF INTEREST**

The author declared no potential conflicts of interest with respect to the research, authorship, and/or publication of this article.

## ETHICS

There are no ethical issues with the publication of this manuscript.

## REFERENCES

- Ak T, Karakoc SBG, Biswas A. Numerical scheme to dispersive shallow water waves, J Comput Theor Nanosci 2016;13:7084-7092. [CrossRef]
- [2] Ali KK, Karakoc SBG, Rezazadeh H. (2020) Optical soliton solutions of the fractional perturbed nonlinear Schrodinger equation. TWMS J Appl Eng Math 2020;10:930–939.
- [3] Başkaya E. Asymptotics of eigenvalues for Sturm-Liouville problem with eigenparameter-dependent boundary conditions. New Trends Math Sci 2018;6:247–257. [CrossRef]
- [4] Başkaya E. Asymptotics of eigenvalues for Sturm-Liouville problem including eigenparameter-dependent boundary conditions with integrable potential. New Trends Math Sci 2018;6:39–47. [CrossRef]
- [5] Başkaya E. Asymptotics of eigenvalues for Sturm-Liouville problem including quadratic eigenvalue in the boundary condition. New Trends Math Sci 2018;6:76–82. [CrossRef]

(ii) for  $\alpha_2' \neq 0$ ,  $\beta = 0$ 

- [6] Başkaya E. Periodic and semi-periodic eigenvalues of Hill' s equation with symmetric double well potential, TWMS J Appl Eng Math 2020;10:346–352.
- [7] Başkaya E. Asymptotics of eigenvalues for regular Sturm-Liouville problems with spectral parameter-dependent boundary conditions and symmetric single well potential. Turk J Math Comput Sci 2021;13:44–50. [CrossRef]
- [8] Coşkun H, Başkaya E. Asymptotics of eigenvalues of regular Sturm-Liouville problems with eigenvalue parameter in the boundary condition for integrable potential. Math Scand 2010;107:209–223. [CrossRef]
- [9] Coşkun H, Bayram N. Asymptotics of eigenvalues for regular Sturm-Liouville problems with eigenvalue parameter in the boundary condition. J Math Anal Appl 2005;306:548–566. [CrossRef]
- [10] Coşkun H, Kabataş A. Asymptotic approximations of eigenfunctions for regular Sturm-Liouville problems with eigenvalue parameter in the boundary condition for integrable potential. Math Scand 2013;113:143–160. [CrossRef]
- [11] Coşkun H, Kabataş A. Green's function of regular Sturm-Liouville problem having eigenparameter in one boundary condition. Turk J Math Comput Sci 2016;4:1-9.
- [12] Coşkun H, Kabataş A, Başkaya E. On Green's function for boundary value problem with eigenvalue dependent quadratic boundary condition. Bound Value Probl 2017;71. [CrossRef]
- [13] Coşkun H, Başkaya E, Kabataş A. Instability intervals for Hill's equation with symmetric single well potential. Ukr Math J 2019;71:977–983. [CrossRef]
- [14] Fulton C. Two point boundary value problems with eigenvalue parameter contained in the boundary conditions. Proc R Soc Edinb A: Math 1977;77:293–308. [CrossRef]
- [15] Fulton C. Singular eigenvalue problems with eigenvalue parameter contained in the boundary conditions. Proc R Soc Edinb A: Math 1980;87:1–34.
   [CrossRef]

- [16] Guliyev NJ. Schrödinger operators with distributional potentials and boundary conditions dependent on the eigenvalue parameter, J Math Phys 2019;60:063501. [CrossRef]
- [17] Haaser NB, Sullivian JA. Real analysis (Dover Books on Mathematics). 1st ed. New York: Dover Publications;1991.
- [18] Hinton DB. Eigenfunction expansions for a singular eigenvalue problem with eigenparameter in the boundary condition. SIAM J Math Anal 1981;12:572-584. [CrossRef]
- [19] Huang MJ. The first instability interval for Hill equations with symmetric single well potentials. Proc Am Math Soc 1997;125:775–778. [CrossRef]
- [20] Kabataş A. Eigenfunction and Green's function asymptotics for Hill's equation with symmetric single well potential. Ukr Mathl J 2022;74:218–231.
   [CrossRef]
- [21] Kabataş A. On eigenfunctions of Hill's equation with symmetric double well potential. Commun Fac Sci Univ Ankara Ser A1 Math Stat 2022;71:634–649. [CrossRef]
- [22] Kabataş A. One boundary value problem including a spectral parameter in all boundary conditions. Opusc Math 2023;43:651–661. [CrossRef]
- [23] Karakoc SBG, Saha A, Sucu D. A novel implementation of Petrov-Galerkin method to shallow water solitary wave pattern and superperiodic traveling wave and its multistability: Generalized Korteweg-de Vries equation. Chin J Phys 2020;68:605–617. [CrossRef]
- [24] Karakoc SBG, Neilan M. A C0 finite element method for the biharmonic problem without extrinsic penalization. Numer Methods Partial Differ Equ 2014;30:1254–1278. [CrossRef]
- [25] Roncaratti LF, Aquilanti V. Whittaker-Hill equation, Ince polynomials and molecular torsional modes. Int J Quantum Chem 2010;110:716–730. [CrossRef]
- [26] Walter J. Regular eigenvalue problems with eigenvalue parameter in the boundary conditions. Math Z 1973;133:301–312. [CrossRef]